اسئلة في المحاضرات الــ 3 الاولى: Psycholinguistics

1-“Research in this field therefore requires that mental language-processing events be inferred from observable behavior”
A- O'Grady
B- Levelt
C-All the answers
2-One example of “observable behavior” is what some people call............................OR................ ..... 1
A-slips of the tongue or speech errors
B-measures the speed and accuracy
C-All the answers
3-One example of “........................” is what some people call slips of the tongue or speech errors
A-observable behavior
B-How a word is spelled
C-All the answers
4-A desktop dictionary is usually consulted when we:
A-What a word means
B-How a word is spelled
C-How a word is pronounced
D- All the answers
5-And the words are usually organized .................! 1
A-verbally
B-alphabetically 
C-literatim
6- Our Mental Lexicon is .............1
A- organized a little bit different 
B-organized a more bit different 
C-All the answers

7- Our Mental Lexicon is organized a little bit different it:
A- It can accommodate new words
B- It can be accessed very quickly
C- All the answers
8- How quick we can access our mental lexicon is what is commonly referred as the:
A-“Tip-of-the-tongue phenomena” 
B-“Tip-of-the-tongue phoneme” 
C-All the answers
9- This is the situation where you are unable to access a word (or remember a word)in your mental lexicon and all you needed 
A-slips of the tongue or speech errors
B-Tip-of-the-tongue phenomena
C-All the answers
10- This is the situation where you are unable to access a word (or remember a word)in your mental lexicon and all you needed was the:
A- meaning of the word
B- the sound of the word
C- the first letter
D- or what the word rhymes with 
E- All the answers
11- A technical term, we should stop calling them
A-words
B-entries
C-All the answers
12- The technical term for the items in the lexicon is.............1
A-words
B-entries
C-All the answers
13- Big problem IS
A-The mental lexicon cannot be observed !
B-The mental lexicon can be observed !
C-All the answers
14- How can we know “The mental lexicon cannot be observed"?
A- Through creative experiments
B-Through normal experiments
C-All the answers
15- Through creative experiments such as:
A-priming
B-Lexical decision
C-Lexical decision and priming
16- Lexical Decision, What are we looking for?
A-Response latency
B-Response accuracy
C-Response latency AND Response accuracy
17- Response latency IS
A- and that is whether or not the participant responded accurately
B-and that is the time it takes for the a participant to respond “yes/no”
C- All the answers
18- Response accuracy IS
A- and that is whether or not the participant responded accurately
B-and that is the time it takes for the a participant to respond “yes/no”
C- All the answers
19- When designing this task the participants are usually tested on one set of stimuli against another set of stimuli. For example:
“Nouns” compared to “Verbs”. “concrete words” compared to “abstract words”
This test......................................... in which the mental lexicon is accessed.
A- measures the speed and accuracy
B- measures the speed 
C- measures accuracy



20- It has been found that it usually takes participants about a half a second to press “yes” for word they know or frequently used words. However, it takes three-quarters of a second to press “yes” for less common words. This is commonly known as........................1
A-measures the speed 
B-the frequency effect. 
C-All the answers
21- What we can infer from this is that our mental lexicons are probably organized in a way that words we use often are more .............................1
A- easy to access.
B- difficult to access.
C- All the answers
22- Priming can be considered as an extension of lexical decision task. However, in this task before the participant is asked to choose “yes” or “no” the target word is preceded by another stimulus called
A-the prime
B-Lexical decision
C-the target stimuli.
23- What is measured is the extent the prime influences the participant’s lexical decision on.......................1
A-the target stimuli.
B-the prime
C-All the answers













أسئلة في المحاضرات الــ 4,5,6,7

1- A sentence is understood (either in the case of reading or listening) through the meaning of its words and analysis of its syntactic structures.
This unconscious ability as ............... 1
A-parsing
B-entries
C-All the answers
2-Much of the work in psycholinguistics regarding sentence processing is focused on:
A-How parsing happens
B-What are the steps that take place in parsing
C-Parsing speed 
D-The conditions when parsing doesn’t work
E-All the answers
3-Among the most common timed-reading experiments is
A-the bar-pressing test.
B-Parsing speed
C-All the answers
4-Research has shown that the more difficult the sentence is in structure the more ........................ there are in addition to longer fixation times.
A-regressive saccades
B-the bar-pressing test.
C-All the answers
5-Research has shown that the more difficult the sentence is in structure the more regressive saccades there are in addition to longer.................... 1
A-parsing
B-fixation times
C-All the answers
6- ERP experiments measure .................................1
A- electrical activity in the brain
B-electrical activity
C-All the answers
7- voltage fluctuations resulting from .................................1 
A-the brain’s electrical activity
B- electrical activity
C- All the answers
8-Those things they put on a person’s head are called...............1
A-electrodes
B-parsing
C-All the answers
9- What happens in the lab?1
A-The participant sits in front a computer screen.
B-The participants reads words or sentences. 
C-The computer records the instant at which a stimulus is presented.
D-Then the computer compares the voltage fluctuation to ongoing activity in the brain.
E-All the answers

10- Is used to isolate phonemes and word boundaries and relate these items in the mental lexicon
A-a phonetic analysis
B-parsing
C-All the answers
11-“the dog bit the cat”
You also used the information you know about cats and dogs and what to expect from one another. This process is called:
A-“top-down processing”
B-“bottom-up processing”
C-All the answers
12-“The dog bit the cat”
You will probably hear the segment /ð/ 
Then the segment /ə/ 
Then at enormous speed you’re able to access the representation of the word the in your mental lexicon. 
By that time you have realized that the next word is going to be a noun.
Then the segment d-o-g are analyzed
After that you hear the segments /bi/ and you biased to the possibility that this word is going to be bit because of the association with dog. This is what is called: 
A-“bottom-up processing”
B-“top-down processing
C-All the answers
13-Psycholinguists consider such speech errors as evidence that language production makes use of the individual feature components of phonemes and that the phonemes that we produce in speech may actually be put together out of bundles of such features ............. 1
A-O’Grady et al (2010)1
B-Levelt
C-All the answers
14-Marslen-Wilson in the 1980s proposed the ....................... of lexical access
A-“cohort model”
B-“bottom-up processing”
C-All the answers
15-This model states that a word’s ...........consists of all the lexical items that share an initial sequence of phonemes.
A-cohort 
B-cohort model
C-All the answers
16-The phoneme is ........................ 1
A-the fundamental unit of auditory word recognition
B-used to isolate phonemes and word boundaries and relate these items in the mental lexicon
C-All the answers
17-Language is Species Specific ,What that means is
A- language is likely to be part of the genetic makeup of members of the species
B-the fundamental unit of auditory word recognition
C- All the answers

18- Universal Grammar, What we mean by that is
A-languages of the world are similar because all humans have the same language capacities.
B- language is likely to be part of the genetic makeup of members of the species
C- All the answers
19-Is there an age restriction on acquiring a first language?
A-There is a very strong view that there is an age restriction
B- NO
C- All the answers
20-Is the study of the representation of the language in the brain
A-Neurolinguistics 
B-Aphasia 
C- All the answers
21-Is a language impairment linked to brain injury
A-Aphasia 
B-Neurolinguistics 
C- All the answers
22-Is also known as non-fluent aphasia
A- Broca's aphasia
B-Wernicke's aphasia
C- All the answers
23- Is also known as fluent aphasia
A-Broca's aphasia
B-Wernicke's aphasia
C- All the answers
24-Is characterized by halting, effortful speech; it is associated with damage involving Broca’s area in the frontal lobe of the left hemisphere.
A-Wernicke's aphasia
B-Broca's aphasia
C- All the answers
25- Is characterized by fluent meaningless strings; it is caused by damage involving Wernicke’s area in the temporal lobe of the left hemisphere.
A-Broca's aphasia
B-Wernicke's aphasia
C- All the answers







أسئلة المحاضرات الــ 8,9,10,11

1- language function is located in one of the two hemispheres
A-parsing
B-language is lateralized
C-All the answers
2-most people have it in the.............1
A-left
B-right
C- both hemispheres. 
D-All the answers
3-Language is 
A-lateralized
B-parsing
C-All the answers
4-Control of the body is 
A-contralateral
B-the bar-pressing test.
C-All the answers
5- the left hemisphere controls the right side of the body and the right hemisphere controls the left side of the body.
A-lateralized
B-Control of the body is contralateral
C-All the answers
6- In this experiment the participant is given two different inputs to each ear at the same time
A- electrical activity in the brain
B- The dichotic listening experiment
C-All the answers
7- Usually the participant reports what he/she heard in the right ear, This is called
A-the right-ear advantage for language
B- the left-ear advantage for language
C- All the answers
8-The production of a sentence begins with the speaker’s intention to communicate an idea or some item of information. This has been referred to by Levelt (1989) as
A-electrodes
B- a preverbal message
C-All the answers
9- What if the speaker speaks two languages?
A- a bilingual is speaking in a unilingual mode (only one language), only one of the grammars
B-a unilingual mode
C-All the answers
10- One type of alternation between languages in bilingual speech is ...................1
A-Code-switching
B-lateralized
C-All the answers
11- Code-switching is switching between..................1
A- two codes 
B- three codes 
C-All the answers
12-is not to be confused with barrowing
A-Code-switching
B-passing
C-All the answers
13-When a word from one language is incorporated into the lexicon of another language, The phenomenon is called
A-borrowing
B-Code-switching
C-All the answers
14-The lexicon is
A-a dictionary of all the words a speaker knows
B-language function is located in one of the two hemispheres
C-All the answers
15- A word can be retrieved using two different kinds of information
A-meaning or sound 
B-meaning or sentence
C-All the answers
16-A phenomenon in lexical retrieval that has fascinated psycholinguists for decades is
A-the tip-of-the-tongue phenomenon
B-Code-switching
C-All the answers
17-Usually........................ produces an appropriate set of words required for the speaker’s sentence.
A- lexical retrieval
B-Code-switching
C- All the answers
18- Levelt (1989) refers to the creation of sentence structure during sentence planning as ...........................1
A-grammatical encoding
B- lexical retrieval
C- All the answers
19- Said: "I left my car in my briefcase".
Intended: "I left my briefcase in my car".
These examples illustrate a common type of error.
A-exchange errors
B- Aphasia 
C- All the answers
20-Word exchange errors never occur between..............and..................1
A-content words and function words
B-measures the speed and accuracy
C- All the answers
21- a. The bridge closes at seven.
b. The bridges close at seven.
Example of ....................1
A-Creating agreement relations
B-Plural attraction
C- All the answers
22-a plural feature intervenes between a singular subject and its verb error can occur
A- Plural attraction 
B-Creating agreement relations
C- All the answers
23- a. The time for fun and games are over.
b. The illiteracy level of our children are appalling.
Example of ....................1
A- Plural attraction 
B-Creating agreement relations
C- All the answers
24- A. Said: "I can't cook worth a cam".
B. Intended: "I can't cook worth a damn".
Sentence an above is an example of.....................1
A- a preservation error.
B-an anticipation error
C- All the answers
25- A. Said: "taddle tennis". 
B. Intended: "paddle tennis".
Sentence an above is an example of.....................1
A-an anticipation error
B-a preservation error.
C- All the answers
26- A. Said: "hass or grash".
B. Intended: "hash or grass".
Sentence A above is an example of........................1
A-a segment exchange error
B-a preservation error
C-All the answers















أسئلة المحاضرات الــ 12,13


1- is almost the mirror image of the speaker’s task
A-The hearer’s task 
B- lateralized
C-All the answers
2-After a word has been retrieved, its full phonological representation is checked against what has been heard. This is called................................1
A-post-access matching
B-borrowing
c-All the answers
3- a..............................like TLAT, ZNER, and MROCK, are rejected very rapidly in a lexical decision task
A- Impossible non-words
B-possible non-words
C-All the answers
4-a.............................like SKERN, PLIM, and FLOOP, take longer to reject
A-Impossible non-words
B-possible non-words
C-All the answers
5- A word’s ...................consists of all the lexical items that share an initial sequence of phonemes
A-lateralized
B-cohort 
C-All the answers

6- A factor that affects retrieval times for words is ....................1
A- neighborhood density
B- The dichotic listening experiment
C-All the answers
7- A word's .........................consists of all the lexical items that are phonologically similar
A-neighborhood 
B- cohort 
C- All the answers
8- all aspects of human biology are directly encoded in our...................1
A-electrodes
B- DNA
C-All the answers
9- Researchers began genetic investigations by........................1
A- conducting pedigree studies.
B-a unilingual mode
C-All the answers
10- showed that members of over three generations of one family had suffered from specific language impairment (SLI), dyslexia, and other language disorders, indicating that genetic anomalies associated with language development can be inherited.
A-Gopnik (1990, 1997)
B-Levelt 
C-All the answers
11- A major breakthrough came with the discovery by Lai and colleagues (Lai et al. 2001) of a specific gene, ................., that was implicated in the language disorders of an extended family.
A- FOXP2
B- DNA
C-All the answers

12-The disorder was attributable to a mutation of the .................gene, which was transmitted by heredity.
A-FOXP2 
B-DNA
C-All the answers
13-If a mutated version of a gene is responsible for language disorders, it is reasonable to infer that an intact version of that gene is implicated in normal language development and representation. It was suggested that a ........................... had been discovered.
A-“gene for language”
B-FOXP2 
C-All the answers
14-The .................gene is associated with the development of other parts of human anatomy unrelated to language, including the lung, the gut, and the heart.
A-FOXP2 
B-“gene for language”
C-All the answers
15-a......................a gene that is not confined to Homo sapiens; it is also found in other mammals, including mice (Marcus and Fisher 2003).
A-FOXP2 
B-“gene for language”
C-All the answers
16-it is important to remember that it cannot be the gene for language
A-FOXP2 
B-DNA
C-All the answers
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How ambiguity is dealt with in sentence
processing is of central concern in psycholinguistics, because ambiguity
is rampant in human language. The majority of the 1,000 most
common words in English are multiply ambiguous. Yet, people are
rarely aware of making decisions about word meaning, and getting the correct meaning given a specific sentence context tends to be very easy.
The only exception to this is the garden path sentence

	The process of language birth witnessed in the case of Nicaraguan Sign Language resembles the process through which pidgins turn into creole languages




